
Q.25 How many triangles  are there  in this figure?

इस आकृति में तकिने तिभुज  हैं?

(A) 38 

(B) 44

(C) 46

(D) 54



Q.1 Select the related word from the given alternatives :

Electric Current : Ampere : : Weight : ?

तिए गए तिकल्पों में से संबंतिि शब्ि को चुतनए:

तिदु्यि प्रिाह: एतपपयर : : भार : ?

A. Scale स्केल B. Kilogram तकलोग्राम

C. Commodity िस्िु D. Measurement माप



Q.2 तिए गए तिकल्पों में से संबंतिि संख्या को चुतनए:/

Select the related number from the given

alternatives :

37 : 65 : : 50 : ?

A. 75 B. 79

C. 82 D. 87



Q.3 तनपनतलतिि प्रश्न में तिए गए तिकल्पों में से 

तिषम संख्या-युग्म को चुतनए:/ Find the odd 

number-pair from the given alternatives 

A. 46-52 B. 56-62

C. 66-72 D. 76-84



Q.4 Find the odd word from the given

alternatives : तनपनतलतिि प्रश्न में तिए गए

तिकल्पों में से तिषम शब्ि को चुतनए:

A. Thermometer थमाामीटर

B. Barometer बैरोमीटर

C. Diameter डायामीटर

D. Hygrometer हाइग्रोमीटर



Q.5 तनपनतलतिि प्रश्न में तिए गए तिकल्पों में से

तिषम अक्षरों को चुतनए:/Find the odd letters

from the given alternatives :

A. JF B. UQ

C. PL D. XS



Q.6 तिए गए तिकल्पों में से संबंतिि अक्षरों को

चुतनए:/Select the related letters from the

given alternatives:

ACXZ : BDWY : : CEVX : ?

A. DFUZ B. DFUW

C. DGUW D. DFUV



Q.6 तनपनतलतिि प्रश्न में एक अनुक्रम तिया गया है, तजसमें एक पि लुप्त है।

तिए गए तिकल्पों में से िह सही तिकल्प चुतनए जो अनुक्रम को पूरा करे:

A series is given, with one term missing. Choose the correct

alternative from the given ones that will complete the series :

CBA, FED, IHG, LKJ, ?

A. PRT B. VUT

C. ONM D. ZYX



Q.7 तनपनतलतिि शब्िों को शब्िकोश में तिए गए क्रम के अनुसार

तलतिए:/ Arrange the following words as per their

order in the dictionary :

1. Embody

2. Embrace

3. Embitter

4. Emblem 

5. Embroidery A. 3, 4, 2, 5, 1 B. 4, 2, 5, 1, 3

C. 4, 1, 2, 5, 3 D. 3, 4, 1, 2, 5



Q.8 तनपनतलतिि प्रश्न में एक अनुक्रम तिया गया है, तजसमें एक पि लुप्त है।

तिए गए तिकल्पों में से िह सही तिकल्प चुतनए जो अनुक्रम को पूरा करे:/

A series is given, with one term missing. Choose the correct

alternative from the given ones that will complete the series :

6, 12, 36, 144, 720, 4320, ?

A. 30420 B. 30240

C. 31240 D. 32240



Q.9 Introducing a woman, a man said “Her mother is

the only daughter of my mother-in-law”. How is the

man related to the woman ? एक मतहला का पररचय िेिे हुए

एक पुरुष ने कहा तक, "उसकी मािा मेरी सास की एक माि पुिी

है।" पुरुष का मतहला के साथ क्या संबंि है ?

A. Son पुि B. Brother भाई

C. Husband पति D. Father तपिा



Q.10 Which of the following numbers will

replace the question mark (?) in the given

series?/ िी गई शृंिला में तनपनतलतिि में से कौन-

सी संख्या प्रश्न तचह्न (?) को प्रतिस्थातपि करेगी?

12, 37, 114, 347, 1048, ?

a) 3252

b) 3153

c) 3253

d) 3152



Q.11 Select the option that is related to the fifth term in the same

way as the second term is related to the first term and the fourth

term is related to the third term.

उस तिकल्प का चयन करें जो पांचिें पि से उसी प्रकार संबंतिि है जैसे िूसरा पि

पहले पि से संबंतिि है और चौथा पि िीसरे पि से संबंतिि है।

ABILITY : ITYLABI :: INSTEAD : EADTINS :: ENGLISH : ?

a) ISHLENG

b) LISHNGE

c) ESHLING

d) IHSLEGN



Q.12 If I denotes ‘÷’, J denotes ‘×’, K denotes ‘−’ and

L denotes ‘+’, then what will come in place of ‘?’ in the

following equation?/ यति I का अथा '÷' है, J का अथा '×' है,

K का अथा '−' है और L का अथा '+' है, िब तनपनतलतिि

समीकरण में '?' के स्थान पर क्या आएगा?

15 L (3 J 9) K (12 J 2) L (189 I 9) L 29 = ?

a) 72

b) 65

c) 62

d) 68



Q.13 How many triangles are there in

the given figure?

िी गई आकृति में तकिने तिभुज हैं?

a) 6 

b) 10 

c) 12 

d) 16



Q-14 In a certain code language, 'SPECIAL' is 

coded as '20176410213'. How will 'MACHINE’   be    

coded    in      that code language?

एक तनतिि कूट भाषा में, 'SPECIAL' को '20176410213' 

के रूप में कूटबद्ध तकया जािा है। उस कूट भाषा में 

'MACHINE' को कैसे कूटबद्ध तकया जाएगा?

(A) 1324810155 

(B) 1424901056 

(C) 1424910156 

(D) 1524910146



Q.15 Select the option that represents the letters that, when 

placed from left to right in the blanks, will complete the letter 

series./ उस तिकल्प का चयन कीतजए जो उन अक्षरों को िशाािा है, तजसे 

ररक्त स्थान में बाए ंसे िाए ंरिने पर है, अक्षर श्ृंिला को पूणा करेगा।

D _ R X E C M R _ E _ M R X _ A M _ X E

a) B X M E R

b) E B X M R

c) M X B E R

d) X M B E R



Q. 16 In the following question, select

the odd number from the given

alternatives. तनपनतलतिि प्रश्न में तिए गए

तिकल्पों में से तिषम संख्या को चुतनए।

A 362 B 442

C 26 D 23



Q.17 Find the missing number ?

लुप्त संख्या ढूूँढें?

A .18

B .19

C .21

D .12



Q.18 Which of the following numbers will replace the

question mark (?) in the given series?/ तनपनतलतिि में से कौन सी

संख्या िी गई श्ृंिला में प्रश्निाचक तचह्न (?) को प्रतिस्थातपि करेगी?

2168, 1979, 1790, 1601, 1412, ?

a) 1223

b) 1301

c) 1212

d) 1179



Q-19 In a certain code language,'152' means 

'Lotus flower pink’, '570' means ‘green flower 

costly’ and ’236’ means ‘clouds are pink’. Which 

of the following is the code for ‘are’?

(A) 0 

(B) 3 or 6 

(C) 5 

(D) 2 or 6



Q20.Looking at a picture of a boy,  Kareena

said, “his mother is the wife of my father’s 

son. Brothers and sisters Ihave none.” At 

whose picture was  Kareena looking?

एक लड़के की िस्िीर िेिकर करीना  ने कहा, "उसकी 

माूँ मेरे तपिा के बेटे की पत्नी है। भाई और बहन मेरे 

पास कोई नहीं है।"करीना   तकसकी िस्िीर िेि रहा 

था?

A. HIS SON 

B. HIS COUSIN 

C. HIS UNCLE

D. HIS NEPHEW



Q.21 When Anup saw Sandeep, he 

recalled, “he is the son of the father of my 

daughter’s mother.” Who is Sandeep to 

Anup? 

जब अनूप ने संिीप को िेिा, िो उसे याि आया, 

"िह मेरी बेटी की माूँ के तपिा का पुि है।" अनूप 

के तलए संिीप कौन है?

A.Brother-in-law 

B. brother

C. Cousin  

D.Uncle 



Q-22 Select the related letters from the 

given alternatives.

तिए गए तिकल्पों में से संबंतिि अक्षर का चयन 

करें।

1318 : ID :: 1523 : ?

(A) DG 

(B) RK 

(C) EK 

(D) GI



Q-23Select the related number 

from the given alternatives.

तिए गए तिकल्पों में से संबंतिि संख्या 

का चयन करें।

123 : 216 :: 217 : ?

(A) 125 

(B) 343 

(C) 1000 

(D) 1331



Q.24.One morning after sunrise, Suresh was 

standing facing a pole. The shadow of the pole fell 

exactly to his right. To which direction was he 

facing?

एक सुबह सूयोिय के बाि सुरेश एक िपभे की ओर मंुह 

करके िड़ा था। िपभे की छाया ठीक उसके िातहनी ओर 

पड़ी। उसका मुि तकस तिशा की ओर था?

A.EAST

B. WEST

C. SOUTH

D. DATA INADEQUATE



Q 25.Early morning after sunrise, Karthik was standing infront of his 

house in such a way that his shadow was falling exactly behind him. He 

starts walking straight and walks 5 Metres. He turns to his left and walks 

3 Metres and again turning to his left walks 2 Metres. Now in which 

direction is he from his starting point?

सुबह सूयोिय के बाि कातिाक अपने घर के सामने इस िरह िड़ा था तक उसकी परछाई 

तबल्कुल उसके पीछे पड़ रही हो। िह सीिा चलना शुरू करिा है और 5 मीटर चलिा है। 

िह बायीं ओर मुड़िा है और 3 मीटर चलिा है और तिर से बायीं ओर मुड़कर 2 मीटर 

चलिा है। अब िह अपने आरंतभक तबंिु से तकस तिशा में है?

A.WEST

B. NORTH-EAST

C. EAST

D.SOUTH-WEST




